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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination, 2019 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY - II 

I LSE-101  

 

Time : 3 Noun 	 Maximum Marks : 75 

Note : Question No.1 is compulsory. Attempt question number 

2 and 3 as per given instructions. 

1. 	(a) 	Fill in the blanks with alternatives given in 

parenthesis. 	 [71 

(i) (Hemichordates/Urochordates) are 

marine and generally sessile adult 

animals often colonials. 

(ii) Chondrichthyes have streamlined body 

with (heterocercal/homocercal) tail. 

(iii) (Amphibians/Reptiles) are ectothermic 

tetrapods and respire by lungs, gills or 

skins. 
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(iv) Some ascidians undergo metamorphosis 

from a free swimming (tornaria/tadpole) 

larva to an adult. 

(v) Amphioxus is the sole representative of 

sub-phylum 	(Hemichordata/ 

Cephalochordata). 

(vi) (Hagfishes/Sharks) are jawless fishes. 

(vii) (Petromyzon/Myxine) are considered as 

scavenger of sea as they feed on dead 

or dying fishes. 

(b) 	Read the following and match Column A with 

Column B : 

Column A 	 Column B 

(i) Chimaera 	(a) Rhynchocephalia 

(ii) Swim bladder (b) Water stainer 

(iii) Hyla 	 (c) Long Sticky tongue 

(iv) Sphenodon 	(d) Sorex 

(v) Duck 	 (e) Tree frog 
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(vi) Echidna 	(f) Teleost 

(vii) Insectivora 	(g) Holocephali 

(c) 	Give one function for each of the following : [6] 

(i) Sebaceous glands 

(ii) Baleen 

(iii) Gizzard 

(iv) -Tapetum lucidum 

(v) Weberian Ossicles 

(vi) Pineal gland 

2. 	Attempt any 5 questions : 

(a) Discuss the process of flapping flight in birds. 

[5] 

(b) Describe the respiratory organs in amphibians. 

[5] 

(c) Give a diagrammatic representation of single 

circulation and double circulation. 	 151 

LSE- 10/4500 
	

( 3  ) 	 [P.T.O.] 



(d) Describe the different types of centra found in 

vertebrates. 	 [5] 

(e) Describe the pit organs in snakes. What is its 

function ? 	 [5] 

(f) Describe imprinting in shrews. 	 [5] 

3. 	Attempt any 3 questions : 

(a) Describe scansorial types of locomotion in 

vertebrates. 	 [10] 

(b) Describe the specialised derivatives of 

integument in tetrapods. 	 [10] 

(c) Distinguish between the digestive systems of 

carnivores and herbivores. Illustrate your answer 

with the help of diagrams. 	 [10] 

(d) Describe variations in urinary systems of 

vertebrates belonging to different groups. [10] 
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